3D1 2006 Answers

1 (a) 192kN/m3 (i) 94kPa  (ii) 169 kPa
(b) 94 kPa
(c) 0.142m, 0.099 m
(d) 5 months

3 (a) 0'hmax = 0, 272 kPa, and 516 kPa approximately at 0, 5 and 10 m respectively
Tmax = 0, 68 kPa, and 123 kPa approximately at 0, 5 and 10 m respectively
() O'herit = 0, 193 kPa, and 385 kPa approximately at 0, 5 and 10 m respectively

Tt = 0, 36kPa, and 73 kPa approximately at 0, 5 and 10 m respectively
(c) 5.7 MN in Mode S
(d) 17.1 MN in Mode S, based on cavitation

4 (a) 26° 3.605, 0.047, 0.246

(b) 60kPa,31kPa,n=1+53/z,v=T+A-x—-AIn(5.82+31)+« In(l +5.3/z)
(c) cuy=4+ 14z kPa



